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(C) BE =k 571 54100kN/ M LU T DK DTS T D 1D B A KN/ ) (Q) HHEE HS3mBL T DR B DHEHED A DB ABRN/m) EMBEEHEEHZRLEFEBHEHICHRRMT

D) CONLZEEY AT IBEDLTRENSE(M) H) QN LHEEY AT IBEDLRENE (M) DEGRHENCBEETAHAENTED,

HETFTRLYFHOLEZEDADKES SIESHBAD T EZ D HDKES
RHBES i
(A) (B) () (D) (E) (F) (@) (H) (A) (B) (©) (D) (E) (F) (@) (H)

(1) | 1450 10 100.0 10 - - 14.6 29 145.0 10 99.9 10 - - 146 29

(2) 150.3 1.0 99.7 1.0 15.9 3.1 15.1 3.0 149.2 1.0 96.9 1.0 15.9 3.1 141 2.8

( 3) - - 98.1 1.0 - - 10.3 2.0 - - 94.5 1.0 - - 10.3 2.0

( 4) 1274 1.0 99.8 1.0 - - 111 2.2 125.9 1.0 99.2 1.0 - - 11.1 2.2

(5) - - 95.5 1.0 - - 12.3 2.4 - - 95.5 1.0 - - 12.3 24

(6) 1271 1.0 99.5 1.0 - - 12.2 2.4 124.7 1.0 96.7 1.0 - - 12.2 24

7)) - - 96.9 1.0 - - 11.7 2.3 - - 95.3 1.0 - - 11.7 2.3

( 8) 108.0 1.0 99.1 1.0 - - 11.7 2.3 105.3 1.0 96.2 1.0 - - 11.7 2.3

(9) - - 96.2 1.0 - - 11.4 2.3 - - 96.2 1.0 - - 114 2.3
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